

Custom printed cups and containers are a go-to for companies that want to fly their colors on a green billboard with front and back-end benefits. Our products help our customers communicate their commitment to waste diversion.



Agree to Pricing, MOQ, and Lead Times

Submit Art Review/Approve Proof

Place P.O.

Lead Time Begins

COMPOSTABLE CUP

Lead times start when the art proof and production proof are approved and the P.O. is confirmed.



BPI Certified Compostable

Biodegradable Products Institute (BPI) is a third-party organization that provides certification for materials and products that break down in a commercial composting environment. "BPI Certified" means a product has gone through a rigorous testing process for compostability.

Updated June 27, 2023 www.ecoproducts.com





Sin 1 COLOR SCREEN PRINT

Sign 1 COLOR SCREEN PRINT

Output

Description of the print of th



○○ 10IN 3-COMPT
 2 COLOR SCREEN PRINT





Molded Fiber Containers

Made with rapidly renewable resources like sugarcane and bamboo

Meet ASTM standards for compostability

Microwaveable and freezable

Hot and cold food friendly

Grease and cut resistant

SIZE	COLORS	PLATE FEE	MOQ	LEAD TIME
CLAMSHELLS (TOP ONLY)			
6×6	Screen: 1 color Digital: Unlimited	\$50	50,000 pcs	16 wks
8x8	Screen: 1 color Digital: Unlimited	\$50	50,000 pcs	16 wks
8x8 3-Compt	Screen: 1 color Digital: Unlimited	\$50	50,000 pcs	16 wks
9x9	Screen: 1 color Digital: Unlimited	\$50	50,000 pcs	16 wks
9x9 3-Compt	Screen: 1 color Digital: Unlimited	\$50	50,000 pcs	16 wks
9x6in	Screen: 1 color Digital: Unlimited	\$50	50,000 pcs	16 wks
9x6 2-Compt	Screen: 1 color Digital: Unlimited	\$50	50,000 pcs	16 wks
13x7x1.25in	Screen: 1 color Digital: Unlimited	\$50	50,000 pcs	16 wks
PLATES (RIM ONLY)				
6in	1 color	\$50	50,000 pcs	16 wks
7in	1 color	\$50	50,000 pcs	16 wks
9in	1 color	\$50	50,000 pcs	16 wks
10in	1 color	\$50	50,000 pcs	16 wks
10in 3-Compt	1-2 colors	\$50	50,000 pcs	16 wks
10x7in	1-2 colors	\$50	50,000 pcs	16 wks
BOWLS (RIM ONLY)				
12oz	1 color	\$50	25,000 pcs	12-14 wks
BOWLS (SIDEWALL ONLY)				
12-46oz, Coupe or Noodle	1 color	\$50	50,000 pcs	16 wks
64-160oz, Regalia	1 color	\$50	50,000 pcs	16 wks





















∞ EP-DLCC

∞ EP-DLCC-NH









PLA Cold Cups

Made from renewable resources and BPI-certified compostable Branding communicates your environmental commitment

Made and printed in USA

Cold drinks only

SIZE	SPOT COLORS	PLATE FEE	MOQ	LEAD TIME
COLD CUPS				
9oz	1-6 colors	\$60/color	60,000 pcs	10 wks
12oz	1-6 colors	\$60/color	60,000 pcs	10 wks
16oz	1-6 colors	\$60/color	48,000 pcs	10 wks
20oz	1-6 colors	\$60/color	48,000 pcs	10 wks
24oz	1-6 colors	\$60/color	36,000 pcs	10 wks

SKU	DESCRIPTION	QTY	
COLD CUP LIDS			
EP-FLCC	9-24 oz Flat Lids	1,000/cs	
EP-FLCS	9-24 oz Sip Lids	1,000/cs	
EP-DLCC	9-24 oz Dome Lids	1,000/cs	
EP-DLCC -NH	9-24 oz Dome Lids (no Hole)	1,000/cs	

Paper Cold Cups

Made from renewable resources and BPI-certified compostable

Lined inside and outside with PLA, a plant-based plastic

Double lamination prevents leaks and keeps the cup from getting soggy from condensation

Cold drinks only

SIZE		SPOT COLORS	PLATE FEE	MOQ	LEAD TIME
PAPE	R COLD CUPS				
	16oz	1-4 colors	\$35/color	200,000 pcs	12-14 wks
	22oz	1-4 colors	\$35/color	200,000 pcs	12-14 wks

SKU	DESCRIPTION	QTY
PAPER COLD CUP L	IDS	
EP-FLCC22	16-22oz Flat Lids	1,000/cs
EP-FLCS22	16-22oz Sip Lids	1,000/cs















∞ KRAFT ECOGRIP

₩ WHITE ECOGRIP









Hot Cups & EcoGrips

Made from renewable resources

Lined with PLA, a plant-based plastic

Meet ASTM D6868 standards for compostability

BPI-certified compostable

Kraft EcoGrips® made with 85% post-consumer recycled fiber and are BPI-certified compostable

PLA EcoLids® are ASTM D6400 complaint and BPI-certified compostable

SIZE	PRINT TYPE	PLATE FEE	MOQ	LEAD TIME
HOT CUPS				
4oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
8oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
12oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
16oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
20oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
INSULATED HOT CU	PS			
8oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
12oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
16oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
20oz Tall	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
ECOGRIP®				
EG-2000 KRAFT OR WHITE	1-2 colors	\$200/color	52,000 pcs	10-12 wks

SKU DESCRIPTION		QTY
HOT CUP LIDS		
EP-ECOLID-8	Fits 8oz Hot Cups	1,000/cs
EP-ECOLID-W	Fits 10-20oz Hot Cups	1,000/cs
EP-HCLDT-R	Fits 10-20oz Hot Cups	1,000/cs







∞ 8OZ







∞ 160Z



∞ 320Z





∞ EP-ECOLID-SPL



∞ EP-BSC5DLID



∞ EP-BSC8DLID



Paper Food Containers

Made from renewable resources

Lined with PLA, a plant-based plastic

Meet ASTM D6868 standards for compostability

BPI-certified compostable

PLA EcoLids® are ASTM D6400 compliant

SIZE	PRINT TYPE	PLATE FEE	MOQ	LEAD TIME
PAPER FOOD CONT	AINERS			
5oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
8oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
10oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
12oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
16oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
24oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks
32oz	Spot: 1-4 colors CMYK: unlimited	\$35/color \$140 total	50,000 pcs	12-14 wks

SKU	DESCRIPTION	QTY
PAPER FOOD CONTA	AINER LIDS	
EP-ECOLID-SPS	Fits 8-10oz Food Containers	1,000/cs
EP-ECOLID-SPL	Fits 12-32oz Food Containers	500/cs
EP-BSC5DLID	Dome Lid - Fits 5oz Food Containers	1,000/cs
EP-BSC8DLID	Dome Lid - Fits 8oz Food Containers	1,000/cs
EP-BSCDLID	Dome Lid - Fits 12-32oz Food Containers	1,000/cs





∞ 260Z





∞ 480Z





Squat Paper Food Containers

Made from renewable resources

Lined with PLA, a plant-based plastic

OK Compost INDUSTRIAL certified

EN13432 compliant

BPI certification pending

SIZE	PRINT TYPE	PLATE FEE	MOQ	LEAD TIME	
SQUAT PAPER FOOD CONTAINERS					
26oz	Spot: 1-6 colors CMYK: unlimited	\$150/color \$600 total	100,000 pcs	12-14 wks	
32oz	Spot: 1-6 colors CMYK: unlimited	\$150/color \$600 tota	100,000 pcs	12-14 wks	
48oz	Spot: 1-6 colors CMYK: unlimited	\$150/color \$600 tota	100,000 pcs	12-14 wks	
Paper Lid	Spot: 1-6 colors CMYK: unlimited	\$150/color \$600 tota	100,000 pcs	12-14 wks	

PLA Lid 👀

Made from renewable resources

Made from PLA, a plant-based plastic

BPI-certified compostable*

Cold foods only

SKU	KU DESCRIPTION	
CLEAR LIDS		
EP-ECOLIDS	Flat PLA Lid for 26-48oz Squat Paper Containers, Clear	300/cs